2015-01-10

sE16[E 8EE FrLYY 973795077 WEATHER : Fine
CHALLENGE CLUB(1/10) COURSE : Dry
1Gr.Time Attack 1[B1H
Lap Time Chart EfRL—2>F3—X

1 C2R it MEBEF—-—LIKVIN-86L—-Y VY 86 PIT: 1H

1= 3= 2'49.628 5= P3'36.659 6= 4'45.600 7= 2'55.264 8= *2'44.645
2= 2'51.452 4= 2'49.964

2 C2Ritt A # # B 35 48 & ABARTH500 PIT: 1[H

1= 3= 2'50.336 5= P4'02.876 6= 4'13.465 7= 2'58.148 8= *2'47.698
2= 3'08.841 4= 2'51.063

3 CRE & %t 9%y PIT:1E

1= 2= 3'14.459 3= *3'03.070 4= P3'27.204 5= 8'28.419 6= 3'03.947
6 C4RE % B B Ah454Y PIT: 1@

1= 3= 2'49.200 5= P3'43.217 6= 4'57.954 7= 2'48.855 8= *2'47.461
2= 2'57.795 4= 2'50.058

7 Cishn 8 B BEE EZE W Nh3L5CFEDDET 949y PIT: 1A

1= 3= 2'57.381 4= P3'36.686 5= 6'21.891 6= 2'56.671 7= *2'53.522
2= 3'02.899

8 CRAHBE KF 1795 PT:1E

1= 3= 2'55.722 5= P3'52.608 6= 4'46.660 7= 2'51.704 8= *2'46.154
2= 3'00.955 4= 2'55.147

9 CRE B ®B®FTERBREHOITEBEWLSICLET Ao-5LtY PIT: 1E

1= 3= 2'46.634 5= P3'42.559 6= 6'09.028 7= 2'44.037 8= *2'42.595
2= 2'49.269 4= 2'43.587

10 CIR# £ B AHEFEF/)J—IJ ! 3-3FNISMOS PIT: 1@

1= 2= *2'55.253 3= 3'18.718 4= P3'36.989 b= 7'18.569 6= 3'03.687
11 CISKXKH EE Yt%)PIT:10H

1= 3= 2'45.470 5= P4'00.434 6= 4'37.125 7= 2'40.631 8= *2'39.660
2= 3'03.459 4= 2'42.985

13 CBRE E B X I1°V7 PT:1H

1= 3= 2'58.222 4= P3'21.809 5= 7'43.744 6= 2'55.668 7= *2'54.158
2= 3'09.412

14 CARE K E = 717VLT74Z PIT:1H

1= 3= 2'59.793 4= 2'48.774 5= P4'03.560 6= 7'22.045 7= *2'46.760
2= 3'04.788

15 CZRF #H*a94F00 A &F SNDDODYAYY'l XK EOEET- V—FY7 PIT:1H

1= 3= 2'58.766 4= P3'38.023 5= 6'20.291 6= 2'55.781 7= *2'52.451

2= 3'02.085
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sE16[E 8EE FrLYY 973795077 WEATHER : Fine
CHALLENGE CLUB(1/10) COURSE : Dry
1Gr.Time Attack 1[B1H
Lap Time Chart EfRL—2>F3—X

16 CAR £ EHBELEINTCR EFEITEAH B L 911 PIT: 1M

1= 3= 2'49.600 4= P3'04.539 5= 8'56.904 6= 2'48.182 7= *2'46.436
2= 2'53.745

18 CRE &l EZE AFFE DY & TYT A47M2&~Y PIT: 10

1= 2= 2'59.620 3= *2'50.312 4= P3'06.278 5= 8'38.416 6= 3'01.922
19 C3R¥E H B E&F 0 E .X £ E i TT Golf7 PIT: 1H

1= 3= 3'03.720 5= P3'55.713 6= 5'57.729 7= 2'56.149 8= *2'49.265
2= 3'04.927 4= 2'59.926
20 CARXBE FHBXKA—-JIFIL—F— GTVPIT:1E

1= 2= 3'00.681 3= *3'00.389 4= P3'22.821
22 CIR%L # B/-IN44YBOTER VE OX BIEHBHB LS FIT3RS PIT: 1E

1= 3= 3'03.520 5= P3'52.338 6= 4'30.687 7= *2'56.501 8= 3'01.744
2= 3'06.830 4= 3'00.562
23 CISME # A5% 50W<oLV®% M TT 106S16 PIT: 1@

1= 3= 2'47.283 5= P3'34.927 6= 714772 7= 244134 8= *2'41.464
2= 2'48.606 4= 2'49.088
24 CRRM £ 2 &Y —-—F*vrEBE Z F B $-2,5h TT Viz PIT: 1@

1= 2= 2'55.739 3= *2'52.799 4= P3'18.244 5= 9'34.463 6= 2'54.454
26 CIRIEEHRA =& 8 9%y PIT:1E

1= 2= 2'59.089 3= *2'58.908 4= P3'15.213 5= 13'29.751
30 CiIRf8 X & & Ytv)

1= 2= 2'49.651 3= 2'46.482 4= *2'43.657

74 C3R¥E # % X RX-8 PIT:1H

1= 2= 2'53.848 3= *2'50.865 4= P3'06.285 5= 9'24.387 6= 2'52.149



